PANEL SCREW RETAINER - SPRINGS & WASHERS

CAPTIVE PANEL SCREW CAPTIVE PANEL
SCREW RETAINER

CAPTIVE PANEL SCREW
RETAINER RING

Order Code: (code is blank) t <=L I 'Iii.:umanlsl ‘ Ouniz How to create part numbers] [Material Specifications]
STAINLESS STEEL SPRINGS AND WASHERS " Ordering Code |
025 WIRE 04 WIRE ——T mxlxxx xlx xlx
—f _le s | Material |
4.7
7.8 Length, Thread Finish

__L & Head Dia.
19 fo——28.5—| i i:_*!’_l [

PART NO. M0400 PART ND. M0401 WASHER |Se|eciCODE MATERIAL |RoHS

Stainless
SS Steel YES

METRIC SPRING SIZES

Select P,\':\ORT THREAD [0.DJLENGTH

M3x0.5
MO0400| M3.5x0.6 471 19
ALL
M0401] OTHER |7.8| 28.5
[THREADS)|

METRIC WASHER SIZES

oD[ID.] |
+0.0}+0.0], 5

-0.15

| PART
Select| "5 | [THREAD

0.150.15
IM0402| M3x0.5 4.4 |2.4]0.25

M0403|M3.5x0.6{4.4 | 2.9]0.25

M0404] M4x0.7 | 8 |3.8]0.32

IM0405] M5x0.8 | 8 (4.3 |0.32

M0406] Méx1 | 8 |5.2]0.32

According to individual design any combination of the captive
panel screw and retainer may be used. Certain captive screws
and retainers are more compatible. The following chart indicates
the recommended combinations, but is intended as a guide only.
The selection of captive panel screw and panel retainer is at the
option of the buyer, as both items are purchased separately.

|- Captive Captive Screw
Screw Retainer

[Style 1 tyle -B-C-D-E

IStyle 2 tyle - A

© 1999 RAF Electronic Hardware All Rights Reserved

Seymour CT 06483 203 888-2133 Fax: 203 888-9860 www.rafhdwe.com



javascript:OpenCloseUpWindow()
javascript:GetQuote()
javascript:OpenClosePage('mMaterialSpecs.cfm')
javascript:OpenClosePage('PartNoHelp.cfm')
http://www.rafhdwe.com/RAF_site/OnlineCatalog/mhMasterFrame01.cfm?PART=mcpsr&CYCLE=10
http://www.rafhdwe.com/RAF_site/OnlineCatalog/mhStyle01Template.cfm?ID=663&PART=mcpsr&CYCLE=10
Javascript:OpenClosePhoto('../images/mpg_18d.jpg');

